Any doubt about tis question call 8515823123 between 10 a.m. to 6 p.m.

ANSWER with EXPLANATION
SET - 6

Q1: Ans (b)
Q2: Ans (c)
Q3: Ans (c)
Q4: Ans (a)
Q5: Ans (d)
Q6: Ans (e)
Q7:Ans (c)
Q8: Ans (a)
Q9: Ans (b)
Q10: Ans (c)

Q11:Ans (a)
Q12: Ans (d)
Q13: Ans (b)
Q14: Ans (b)
Q15: Ans (a)

b
b

Box Weight
Aluminium | 250
Wood 100
Plastic 50
Steel 150
Iron 200
Gold 300
Silver 350
Platinum 400
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Q16: Ans (b)
Q17: Ans (e)
Q18: Ans (a)
Q19: Ans (e)
Q20: Ans (c)
Q21:Ans B

The seating arrangement is as follows:
L L L L L L ]

P X s z R A
Therefore, right of P is X.
Q22: Ans C
Q23:Ans B

Therefore, Ais sitting in between B and C.
Q24. Ans (A)

F

E will be between A & F.
Q25. Ans: C
Q26. Ans: A

Q27.Ans: D
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When the arrangement is given in circle, then there is a chance of mistake regarding
left & right. So, we have to consider our self at the point of starting. Then think about
your left & right. So, there will be no mistake.

If we start to solve the problem from left towards the downward, that will be more
easier.

B E™ Left

Right

Q28. Ans: B
Q29. Ans: C
Q30. Ans: D
Q31.Ans: B
Q32. Ans: A

W

Q33. Ans: D
Q34. Ans: B
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Q35. Ans: A
Q36. Ans: A
Q37.Ans: C

P

Q38. Ans A
Q39. Ans B
Q40. Ans A

U S

Q41.Ans C
Q42. Ans B
Q43.Ans D
Q44. Ans A
Q45. Ans A
Q46. Ans B
Q47. Ans A
Q48. Ans A
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Q49. Ans D
Q50. Ans E
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